Exercise 2-1 (15 minutes)

1.
The wages of employees who build the sailboats: direct labor cost.


2.
The cost of advertising in the local newspapers: marketing and selling cost.


3.
The cost of an aluminum mast installed in a sailboat: direct materials cost.


4.
The wages of the assembly shop’s supervisor: manufacturing overhead cost.


5.
Rent on the boathouse: a combination of manufacturing overhead, administrative, and marketing and selling cost. The rent would most likely be prorated on the basis of the amount of space occupied by manufacturing, administrative, and marketing operations.


6.
The wages of the company’s bookkeeper: administrative cost.


7.
Sales commissions paid to the company’s salespeople: marketing and selling cost.


8.
Depreciation on power tools: manufacturing overhead cost.

Exercise 2-12 (15 minutes)

	
	
	Cost Behavior
	Selling and Administrative Cost
	Product Cost

	
	
	
	
	

	
	Cost Item
	Variable
	Fixed
	
	

	1.
	The costs of turn signal switches used at a General Motors plant

	
X
	
	
	X

	2.
	Interest expense on CBS’s long-term debt

	
	X
	X
	

	3.
	Salesperson’s commissions at Avon Products

	X
	
	X
	

	4.
	Insurance on one of Cincinnati Milacron’s factory buildings

	
	X
	
	X

	5.
	The costs of shipping brass fittings to customers in California

	X
	
	X
	

	6.
	Depreciation on the bookshelves at Reston Bookstore

	
	X
	X
	

	7.
	The costs of X-ray film at the Mayo Clinic’s radiology lab

	X
	
	
	X

	8.
	The cost of leasing an 800 telephone number at L.L. Bean

	
	X
	X
	

	9.
	The depreciation on the playground equipment at a McDonald’s outlet

	
	X
	X
	

	10.
	The cost of the mozzarella cheese used at a Pizza Hut outlet

	X
	
	
	X


Exercise 2-2 

	
	
	Product 
(Inventoriable) Cost
	Period Cost

	1.
	The cost of the memory chips used in a radar set

	X
	

	2.
	Factory heating costs

	X
	

	3.
	Factory equipment maintenance costs

	X
	

	4.
	Training costs for new administrative employees

	
	X

	5.
	The cost of the solder that is used in assembling the radar sets

	X
	

	6.
	The travel costs of the company’s salespersons

	
	X

	7.
	Wages and salaries of factory security personnel

	X
	

	8.
	The cost of air-conditioning 
executive offices

	
	X

	9.
	Wages and salaries in the department that handles billing customers

	
	X

	10.
	Depreciation on the equipment in the fitness room used by factory workers

	X
	 

	11.
	Telephone expenses incurred by factory management

	X
	

	12.
	The costs of shipping completed radar sets to customers

	
	X

	13.
	The wages of the workers who assemble the radar sets

	X
	

	14.
	The president’s salary

	
	X

	15.
	Health insurance premiums for factory personnel

	X
	


Exercise 2-7 (15 minutes)
	
	
	Differential
	Opportunity
	Sunk

	
	Item
	Cost
	Cost
	Cost

	1.
	Cost of the new flat-panel displays

	X
	
	

	2.
	Cost of the old computer terminals

	
	
	X

	3.
	Rent on the space occupied by the registration desk

	
	
	

	4.
	Wages of registration desk personnel

	
	
	

	5.
	Benefits from a new freezer

	
	X
	

	6.
	Costs of maintaining the old computer terminals

	X
	
	

	7.
	Cost of removing the old computer terminals

	X
	
	

	8.
	Cost of existing registration desk wiring

	
	
	X




Note: The costs of the rent on the space occupied by the registration desk and the wages of registration desk personnel are neither differential costs, opportunity costs, nor sunk costs. These are costs that do not differ between the alternatives and are therefore irrelevant in the decision, but they are not sunk costs since they occur in the future.

Problem 2-21 (30 minutes)

	1.

	
	
	
	
	
	Period
	
	

	
	
	
	Product Cost
	(Selling and
	
	

	
	Variable
	Fixed
	Direct
	Direct
	Mfg.
	Admin.)
	Opportunity
	Sunk

	Name of the Cost
	Cost
	Cost
	Materials
	Labor
	Overhead
	Cost
	Cost
	Cost

	Frieda’s present salary of $4,000 per month

	
	
	
	
	
	
	X
	

	Rent on the garage, $150 per month

	
	X
	
	
	X
	
	
	

	Rent of production equipment, $500 per month

	
	X
	
	
	X
	
	
	

	Materials for producing flyswatters, at $0.30 each

	X
	
	X
	
	
	
	
	

	Labor cost of producing flyswatters, at $0.50 each

	X
	
	
	X
	
	
	
	

	Rent of room for a sales office, $75 per month

	
	X
	
	
	
	X
	
	

	Answering device attachment, $20 per month

	
	X
	
	
	
	X
	
	

	Interest lost on savings account, $1,000 per year

	 
	
	
	
	 
	
	X
	

	Advertising cost, $400 per month

	 
	X
	
	
	
	X
	
	

	Sales commission, at $0.10 per flyswatter

	X
	
	
	
	
	X
	
	 

	Legal and filing fees, $600

	
	
	
	
	
	
	
	X


Problem 2-21 (continued)

2.
The $600 legal and filing fees are not a differential cost. These legal and filing fees have already been paid and are a sunk cost. Thus, the cost will not differ depending on whether Frieda decides to produce flyswatters or to stay with the consulting firm. All other costs listed above are differential costs since they will be incurred only if Frieda leaves the consulting firm and produces the flyswatters.

Problem 2-25 (60 minutes)


1.

	Skyler Company

Schedule of Cost of Goods Manufactured

For the Month Ended June 30



	Direct materials:
	
	

	Raw materials inventory, June 1

	$ 17,000
	

	Add: Purchases of raw materials

	 190,000
	

	Raw materials available for use

	207,000
	

	Deduct: Raw materials inventory, June 30

	   42,000
	

	Raw materials used in production

	
	$165,000

	Direct labor

	
	90,000

	Manufacturing overhead:
	
	

	Rent on facilities (80% × $40,000) 

	32,000
	

	Insurance (75% × $8,000) 

	6,000
	

	Utilities (90% × $50,000) 

	45,000
	

	Indirect labor

	108,000
	

	Maintenance, factory

	7,000
	

	Depreciation, factory equipment

	   12,000
	

	Total overhead costs

	
	 210,000

	Total manufacturing costs

	
	465,000

	Add: Work in process inventory, June 1

	
	   70,000

	
	
	535,000

	Deduct: Work in process inventory, June 30

	
	   85,000

	Cost of goods manufactured

	
	$450,000


Problem 2-25 (continued)


2.

	Skyler Company
Income Statement
For the Month Ended June 30



	Sales

	
	$600,000

	Cost of goods sold:
	
	

	Finished goods inventory, June 1

	$ 20,000
	

	Add: Cost of goods manufactured

	 450,000
	

	Goods available for sale

	470,000
	

	Deduct: Finished goods inventory, June 30

	   60,000
	 410,000

	Gross margin

	
	190,000

	Selling and administrative expenses:
	
	

	Selling and administrative salaries

	35,000
	

	Rent on facilities (20% × $40,000)

	8,000
	

	Depreciation, sales equipment

	10,000
	

	Insurance (25% × $8,000)

	2,000
	

	Utilities (10% × $50,000)

	5,000
	

	Advertising

	   80,000
	 140,000

	Net operating income

	
	$ 50,000



3.
In preparing the income statement shown in the text, the accountant failed to distinguish between product costs and period costs, and also failed to recognize the change in inventories between the beginning and end of the month. Once these errors have been corrected, the financial condition of the company looks much better and selling the company may not be advisable.

Problem 2-27 (60 minutes)


1.

	Valenko Company
Schedule of Cost of Goods Manufactured



	Direct materials:
	
	
	

	Raw materials inventory, beginning

	$ 50,000
	
	

	Add: Purchases of raw materials

	 260,000
	
	

	Raw materials available for use

	310,000
	
	

	Deduct: Raw materials inventory, ending

	   40,000
	
	

	Raw materials used in production

	
	$270,000
	

	Direct labor

	
	65,000
	*

	Manufacturing overhead:
	
	
	

	Insurance, factory

	8,000
	
	

	Rent, factory building

	90,000
	
	

	Utilities, factory

	52,000
	
	

	Cleaning supplies, factory

	6,000
	
	

	Depreciation, factory equipment

	110,000
	
	

	Maintenance, factory

	   74,000
	
	

	Total overhead costs

	
	 340,000
	

	Total manufacturing costs

	
	675,000
	(given)

	Add: Work in process inventory, beginning

	
	   48,000
	*

	
	
	723,000
	

	Deduct: Work in process inventory, ending

	
	   33,000
	

	Cost of goods manufactured

	
	$690,000
	


Problem 2-27 (continued)



The cost of goods sold section of the income statement follows:

	Finished goods inventory, beginning

	$ 30,000
	

	Add: Cost of goods manufactured

	 690,000
	*

	Goods available for sale

	720,000
	(given)

	Deduct: Finished goods inventory, ending

	   85,000
	*

	Cost of goods sold

	$635,000
	(given)


*These items must be computed by working backwards up through the statements. An effective way of doing this is to place the form and known balances on the chalkboard, and then work toward the unknown figures.


2.
Direct materials: $270,000 ÷ 30,000 units = $9.00 per unit.
Rent, factory building: $90,000 ÷ 30,000 units = $3.00 per unit.


3.
Direct materials:

Per unit: $9.00 (unchanged)

Total: 50,000 units × $9.00 per unit = $450,000.



Rent, factory building:

Per unit: $90,000 ÷ 50,000 units = $1.80 per unit.

Total: $90,000 (unchanged).


4.
The average cost per unit for rent dropped from $3.00 to $1.80, because of the increase in production between the two years. Since fixed costs do not change in total as the activity level changes, the average unit cost will decrease
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